
A Case of More Beer

1. Plural Animal

2. Same Animal Singular

3. Past Tense Verb

4. Adjective Ending In Est

5. Past Tense Verb

6. Adjective

7. Adjective

8. Body Part
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A Case of More Beer

A herd of Plural animal can move only as fast as the slowest Same animal singular and when the herd

is Past tense verb it is the slowest and Adjective ending in est ones at the back that are Past tense 

verb first. This Adjective selection is good for the herd as a whole, because the general speed and

health of the Adjective group keeps improving by the regular culling of the adjective ending in est

members.

In much the same way the human Body part can only operate as fast as the slowest body part cells.

Excessive intake of alcohol, we all know, kills off body part cells, but naturally it attacks the slowest and

weakest body part cells first.

In this way, regular consumption of beer eliminates the weaker body part cells, constantly making the

body part a faster and more efficient machine.
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